The Ksp of Calcium Hydroxide
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e to determine the Ksp for limewater, aqueous calcium hydroxide

Purpose

Substances are considered insoluble if they cannot be dissolved to form a solution of =
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Ms. Purcell and Ms. Wardrop have prepared a saturated soln of calcium hydroxide.
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e buret with calcium hydroxide at the front bench : -
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e hydrochloric acid--concentration 0-0 70 Mg “/L_. HC'Q“ A AP
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e Obtain 10. OO mL of unknown concentrahon of calcium hydroxide saturated soln in
Erlenmeyer FH [h

add 5 drops of —-dropplng——no touching!

add hydrochloric acid to the buret at your bench

place Erlenmeyer under buret /\js (J}LU\
place paper under Erlenmeyer P \J(
add HCI with 2 hands on stopcock
swirl Erlenmeyer after each adqlt:on i W\ N-'IU“ fa o
titrate solution until a shade of white zinfandel
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BCE for the reaction taking place in the Erlenmeyer '
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What is the point of doing the titration?
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lonic dissociation equation for calcium hydroxide:

Ksp Expression:

Ksp =

Conclusion:

Questions

1) What is the difference between an endpoint and an equivalence point?

2) Is calcium hydroxide soluble? How do you know? Explain.




